Basic Differentiation 2 Solutions

(3-4x)?
L

5. f(x): x>0

1 1
(a) Show that f(x)=9x 2 + Ax? + B, where 4 and B are constants to be found.

3)

(b) Find f'(x).
3

(¢) Evaluate f'(9).

(2)
(Total 8 marks)

«) fy = (3-4/) _ g -24/z +16x

Jx I
fixS = 9 24 +i6/x
I
_4 L
f(x) = 9 + 16 x™ —24
_ 3

9 £t = —gx Z.{—?x-a
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2x* —x 3
Given that Z can be written in the form 2x” — x* ,
Jx
(a) write down the value of p and the value of g.
(2
z
. 2x* —x2
Given that y=5x* -3+
g Jx
(b) find %,simplifying the coefficient of each term.
4)
(Total 6 marks)




2 2 3/2
L>> f):foc — 3 + 2o - X
3/2
2
‘\'} = §x" -3 +2x -z
dy <
Y = |0x + 3x" - ]
Ao
f(x)=3x+x3,x>0.
(a) Differentiate to find " (x).
(2)
Given that f' (x) = 15,
(b) find the value of x.
3)
(Total 5 marks)
3
a) Ff(x) = 32 + x

‘fl(>C> =3 + 37(_7'

12 2o
2

4 = x

x = 2

s = 3 4+ 32"

sfnz,e_ X Za0




The curve C has equation y = fod — X2+ x— S, where £ is a constant.

. . dy
Find —.
(a) in ™

()
The point 4 with x-coordinate —% lies on C. The tangent to C at A4 is parallel to the line
with equation 2y — 7x + 1 = 0.
Find
(b) the value of £,

“)
(c) the value of the y-coordinate of A.

(2)

(Total 8 marks)

3
a} (:\:lffoc —xz+x-5’

ﬁ - 3ka —2x + |
Ax

L’) line I 23“7344-(:0

213:794—(
7.
y=Z* "3

So 3f‘uﬂ4"cn'f' of éﬁ(‘ = %
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9. (a) Write in the form 2x” + 3x4 where p and g are constants.

(2)
Given that y =5x-7+ 2J;+3, x>0,
X
(b) find %, simplifying the coefficient of each term.
“)
(Total 6 marks)

1

a> L= + 3 +3 = J2x 4+ 3x

2 (
> e 5¢

Ld

5) 3:5’1—7-)—-2&4—3

o

% oy
-+ 3x

c<
C/\
R

l

Ny
~\..
N
x 1




